

Pay Estimate Created Date: May 18, 2020

Progress Estimate Number	Contract ID	200117-H06	Pay Period Start	May 2, 2020	Original Contract Amount	\$1,994,330.06
5	Prime Contractor	Joe's Bridge & Grading, Inc.	Pay Period End		Net Change Order Amount Current Contract Amount	
					Current Contract Amount	\$2,000,900.00

Approval Date		By User
May 18, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	leez1
May 19, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	holtb1
May 19, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
December 1, 2020	December 1, 2020		37.31%

No Milestones Exist for Contract

Contract Total Pa	ontract Total Pay For Estimate No. 5									
		This Estimate	Previous	To Date						
200117-H06										
	Total Posted Items Pay	\$90,252.50	\$659,328.00	\$749,580.50						
	Gross Item Adjustments	\$0.00	\$130,800.00	\$130,800.00						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
			\$790,128.00	\$880,380.50						
Contract Total Pa	ayable This Estimate:	\$90,252.50								

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3263	0020	2064000	POROUS BACKFILL	CUYD	\$68.000	54	\$3,672.00
	0030	2079909	MISC.MODIFIED LINEAR GRADING, CLASS 2	STA	\$2,400.000	1.7	\$4,080.00
	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$14.000	195	\$2,730.00
	0370	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$77.000	55	\$4,235.00
	0420	7034215	SAFETY BARRIER CURB	LF	\$120.000	135	\$16,200.00
	0460	7151001	VERTICAL DRAIN AT END BENTS	EA	\$1,200.000	2	\$2,400.00
Project J9S320	63 - Total						\$33,317.00
J9S3264	0490	2064000	POROUS BACKFILL	CUYD	\$68.000	71	\$4,828.00
	0500	2079909	MISC. MODIFIED LINEAR GRADING CLASS 2	STA	\$2,400.000	2.8	\$6,720.00
	0510	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$14.000	221	\$3,094.00
	0830	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$77.000	56	\$4,312.00
	0880	7034215	SAFETY BARRIER CURB	LF	\$120.000	151	\$18,120.00
Project J9S326	64 - Total						\$37,074.00
J9S3279	1490	6161005	CONSTRUCTION SIGNS	SQFT	\$5.500	706	\$3,883.00
	1500	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$35.000	4	\$140.00
	1510	6161009	FLAG ASSEMBLY	EA	\$20.000	4	\$80.00
	1520	6161030	TYPE III MOVEABLE BARRICADE	EA	\$125.000	10	\$1,250.00
	1541	6181000	MOBILIZATION	LS	\$58,034.000	0.25	\$14,508.50
Project J9S327	79 - Total						\$19,861.50
Overall - Total	Overall - Total						

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 30



Pay Estimate Created Date: May 18, 2020

Progress Estimate Number
5
Contract ID 200117-H06 Pay Period Start May 2, 2020 Original Contract Amount \$1,994,330.06
Pay Period End May 15, 2020 Original Contract Amount \$14,630.00
Current Contract Amount \$2,008,960.06

ect iber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
263	0020	POROUS BACKFILL	Material			-54	\$68.00	(\$3,672.00
	0020	POROUS BACKFILL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	54	\$68.00	\$3,672.00
	0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-195	\$14.00	(\$2,730.00
	0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	195	\$14.00	\$2,730.00
	0210	18 IN. PIPE GROUP C	Material			-102	\$35.00	(\$3,570.00
	0210	18 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user leez1 overridding Payment Estimate Exception 62 on the current Payment Estimate.	102	\$35.00	\$3,570.00
	0220	30 IN. PIPE GROUP C	Material			-72	\$45.00	(\$3,240.00
	0220	30 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 65 on the current Payment Estimate.	72	\$45.00	\$3,240.00
	0230	48 IN. PIPE GROUP C	Material			-91	\$67.00	(\$6,097.00
	0230	48 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 67 on the current Payment Estimate.	91	\$67.00	\$6,097.00
	0240	MISC.	Material			-1	\$800.00	(\$800.00
	0240	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 68 on the current Payment Estimate.	1	\$800.00	\$800.00
	0250	MISC.	Material			-1	\$1,500.00	(\$1,500.00
	0250	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 69 on the current Payment Estimate.	1	\$1,500.00	\$1,500.00
	0260	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material			-1	\$285.00	(\$285.00
	0260	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user leez1 overridding Payment Estimate Exception 70 on the current Payment Estimate.	1	\$285.00	\$285.00
	0270	30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material			-2	\$575.00	(\$1,150.00
	0270	30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) due to user leez1 overridding Payment Estimate Exception 71	2	\$575.00	\$1,150.00

Revision 4/1/2020 Page 2 of 30



Pay Estimate Created Date: May 18, 2020

Progress Estimate Number
5
Contract ID 200117-H06 Pay Period Start May 2, 2020 Original Contract Amount \$1,994,330.06
Pay Period End May 15, 2020 Net Change Order Amount Current Contract Amount \$2,008,960.06

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3263					on the current Payment Estimate.			
	0280	48 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material			-1	\$1,575.00	(\$1,575.00)
	0280	48 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user leez1 overridding Payment Estimate Exception 72 on the current Payment Estimate.	1	\$1,575.00	\$1,575.00
	0370	BRIDGE APPROACH SLAB (MINOR ROAD)	Material			-55	\$77.00	(\$4,235.00)
	0370	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user leez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	55	\$77.00	\$4,235.00
	0380	GALVANIZED CAST-IN- PLACE CONCRETE PILES (14 IN)	Material			-288	\$90.00	(\$25,920.00)
	0380	GALVANIZED CAST-IN- PLACE CONCRETE PILES (14 IN)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user leez1 overridding Payment Estimate Exception 27 on the current Payment Estimate.	288	\$90.00	\$25,920.00
	0410	CLASS B CONCRETE (SUBSTRUCTURE)	Material			-22.4	\$1,000.00	(\$22,400.00)
	0410	CLASS B CONCRETE (SUBSTRUCTURE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0018) due to user leez1 overridding Payment Estimate Exception 29 on the current Payment Estimate.	22.4	\$1,000.00	\$22,400.00
	0420	SAFETY BARRIER CURB	Material			-135	\$120.00	(\$16,200.00)
	0420	SAFETY BARRIER CURB	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user leez1 overridding Payment Estimate Exception 45 on the current Payment Estimate.	135	\$120.00	\$16,200.00
	0430	SLAB ON CONCRETE BEAM	Material			-156	\$390.00	(\$60,840.00)
	0430	SLAB ON CONCRETE BEAM	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user leez1 overridding Payment Estimate Exception 55 on the current Payment Estimate.	156	\$390.00	\$60,840.00
J9S3264	0490	POROUS BACKFILL	Material			-71	\$68.00	(\$4,828.00)
	0490	POROUS BACKFILL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0019) due to user leez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	71	\$68.00	\$4,828.00
	0510	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-221	\$14.00	(\$3,094.00)
	0510	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0020) due to user leez1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	221	\$14.00	\$3,094.00
	0690	18 IN. PIPE GROUP C	Material			-97	\$35.00	(\$3,395.00)

Revision 4/1/2020 Page 3 of 30



Pay Estimate Created Date: May 18, 2020

Progress Estimate Number
5
Contract ID 200117-H06 Pay Period Start May 2, 2020 Original Contract Amount \$1,994,330.06
Pay Period End May 15, 2020 Net Change Order Amount Current Contract Amount \$2,008,960.06

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3264	0690	18 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0021) due to user leez1 overridding Payment Estimate Exception 63 on the current Payment Estimate.	97	\$35.00	\$3,395.00
	0700	24 IN. PIPE GROUP C	Material			-35	\$42.00	(\$1,470.00)
	0700	24 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0022) due to user leez1 overridding Payment Estimate Exception 64 on the current Payment Estimate.	35	\$42.00	\$1,470.00
	0710	30 IN. PIPE GROUP C	Material			-130	\$48.00	(\$6,240.00)
	0710	30 IN. PIPE GROUP C	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0023) due to user leez1 overridding Payment Estimate Exception 66 on the current Payment Estimate.	130	\$48.00	\$6,240.00
	0830	BRIDGE APPROACH SLAB (MINOR ROAD)	Material			-56	\$77.00	(\$4,312.00)
	0830	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	56	\$77.00	\$4,312.00
	0840	GALVANIZED CAST-IN- PLACE CONCRETE PILES (14 IN)	Material			-400	\$98.00	(\$39,200.00)
	0840	GALVANIZED CAST-IN- PLACE CONCRETE PILES (14 IN)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0024) due to user leez1 overridding Payment Estimate Exception 24 on the current Payment Estimate.	400	\$98.00	\$39,200.00
	0860	CLASS B CONCRETE (SUBSTRUCTURE)	Material			-41.6	\$1,000.00	(\$41,600.00)
	0860	CLASS B CONCRETE (SUBSTRUCTURE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0025) due to user leez1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	41.6	\$1,000.00	\$41,600.00
	0870	SLAB ON CONCRETE I- GIRDER	Material			-153	\$425.00	(\$65,025.00)
	0870	SLAB ON CONCRETE I- GIRDER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user leez1 overridding Payment Estimate Exception 35 on the current Payment Estimate.	153	\$425.00	\$65,025.00
	0880	SAFETY BARRIER CURB	Material			-151	\$120.00	(\$18,120.00)
	0880	SAFETY BARRIER CURB	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user leez1 overridding Payment Estimate Exception 49 on the current Payment Estimate.	151	\$120.00	\$18,120.00
Total								\$0.00

Revision 4/1/2020 Page 4 of 30



Project Number Proj. Number Pro	Description - Bridge replacement - Bridge - Bridge - Bridge - Bridge	91 91	County	0.48 miles east of Rte 9	Contract Project Information	Location of Work
Number Proj. Numbe J9S3263 FAF 91 (10) J9S3264 FAF 91-1(1) J9S3278 FAF 91-1(8) J9S3279 FAF	Description - Bridge replacement - Bridge - Bridge - Bridge - Bridge	91		0.48 miles east of Rte 9	01/P intersection	Location of Work
(10) J9S3264 FAF 91-1(11 J9S3278 FAF 91-1(8) J9S3279 FAF	replacement Bridge replacement Bridge		STODDARD	0.48 miles east of Rte 9	1/P intersection	
91-1(11 J9S3278 FAF 91-1(8) J9S3279 FAF	replacement Bridge	91			7171 IIIICI GCCIIOII	
91-1(8) J9S3279 FAF			STODDARD	3 Miles East of Bell City	, MO	
		91	SCOTT	from 0.04 miles west of	Rte CC/91 intersection	
	Bridge replacement	91	SCOTT	fom 1.8 miles west of R	tte CC/91 intersection	
Γotals by Job Num	bers					
J9S3263				This Estimate	Previous	To Date
	sted Item Pay			\$33.317.00	\$303.143.00	\$336.460.00
	oss Item Adjustm	nents		\$0.00	\$32,700.00	\$32,700.00
			s Item Pay	\$33,317.00	\$335,843.00	\$369,160.00
		2.30			. ,	
	Incentive			\$0.00	\$0.00	\$0.00
	Disincentive			\$0.00	\$0.00	\$0.00
	Liquidated Damages			\$0.00	\$0.00	\$0.00
Oth	Other Contract Adjustments		\$0.00	\$0.00	\$0.00	
J9S3264				This Estimate	Previous	To Date
	sted Item Pay			\$37.074.00	\$326.653.00	\$363,727.00
	oss Item Adjustm	nents		\$0.00	\$32,700.00	\$303,727.00
			s Item Pay	\$37,074.00	\$359,353.00	\$396,427.00
			•			
	entive			\$0.00	\$0.00	\$0.00
	incentive			\$0.00	\$0.00 \$0.00	\$0.00
	uidated Damage er Contract Adju		•	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
Ott	iei contract Aujt	Journelle	•	φυ.υυ	φ0.00	φυ.υυ
J9S3278				This Estimate	Previous	To Date
	sted Item Pay			\$0.00	\$11,966.00	\$11,966.00
	oss Item Adjustm			\$0.00	\$32,700.00	\$32,700.00
	-	Gros	s Item Pay	\$0.00	\$44,666.00	\$44,666.00
l _{na}	entive			\$0.00	\$0.00	\$0.00
	entive incentive			\$0.00	\$0.00	\$0.00 \$0.00
	uidated Damage	•		\$0.00	\$0.00	\$0.00
	ier Contract Adju		3	\$0.00	\$0.00	\$0.00
	•					·
J9S3279				This Estimate	Previous	To Date
	sted Item Pay			\$19,861.50	\$17,566.00	\$37,427.50
Gro	ss Item Adjustm		a Maria Davi	\$0.00	\$32,700.00	\$32,700.00
		Gros	s Item Pay	\$19,861.50	\$50,266.00	\$70,127.50
Inc	entive			\$0.00	\$0.00	\$0.00
	incentive			\$0.00	\$0.00	\$0.00
	uidated Damage	s		\$0.00	\$0.00	\$0.00
I ILIU	er Contract Adju			\$0.00	\$0.00	\$0.00

Revision 4/1/2020 Page 5 of 30



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			1
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 2064000, Project Item Line Number 0020, Material Set 206400096, Material 1009G5DRLS - Agg for Drainage Gr5 Limestone, Acceptance Action Generic 1009G5DRLS is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 2064000, Project Item Line Number 0020, Material Set 206400096, Material 1009G3DRLD - Agg for Drainage Gr3 Limestone/Dolomite, Acceptance Action Generic 1009G3DRLD is insufficient.	Waiting on QC results, leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 2064000, Project Item Line Number 0490, Material Set 206400096, Material 1009G5DRLS - Agg for Drainage Gr5 Limestone, Acceptance Action Generic 1009G5DRLS is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 2064000, Project Item Line Number 0490, Material Set 206400096, Material 1009G3DRLD - Agg for Drainage Gr3 Limestone/Dolomite, Acceptance Action Generic 1009G3DRLD is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 3040506, Project Item Line Number 0510, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 3040506, Project Item Line Number 0040, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on QC results, leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 5031011A, Project Item Line Number 0830, Material Set 5031011A96, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Contractor has placed everything except asphalt. Waiting on asphalt. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7021314, Project Item Line Number 0840, Material Set 702131496, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance	Waiting on QC results. leez1	leez1	Overridden

Revision 4/1/2020 Page 6 of 30



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period Exceptions / Discrepencies	Explanation	Entered	Status
Action Generic 1005FACCNSCA is insufficient.		Ву	
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7021314, Project Item Line Number 0840, Material Set 702131496, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7021314, Project Item Line Number 0840, Material Set 702131496, Material 0501CCB1 - Concrete, Class B-1 No Air, Acceptance Action Generic 0501CCB1 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7021314, Project Item Line Number 0380, Material Set 702131496, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7021314, Project Item Line Number 0380, Material Set 702131496, Material 0501CCB1 - Concrete, Class B-1 No Air, Acceptance Action Generic 0501CCB1 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7032003, Project Item Line Number 0410, Material Set 703200396, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7032003, Project Item Line Number 0410, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7032003, Project Item Line Number 0860, Material Set 703200396, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7032003, Project Item Line Number 0860, Material Set 703200396, Material 1005GECMLS - Masonry Grade E LS/DO, Acceptance Action Generic 1005GECMLS is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7032003, Project Item Line Number 0860, Material Set 703200396, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7032003, Project Item Line Number 0860, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1005GECMLS - Masonry Grade E LS/DO, Acceptance Action Generic 1005GECMLS is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1036RSDFPL42M19 - Reinforcing Steel No. 6/M19 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034213, Project Item Line Number 0870, Material Set 703421396, Material 1036RSDFPL42M25 - Reinforcing Steel No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034215, Project Item Line Number 0420, Material Set 703421596, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034215, Project Item Line Number 0420, Material Set 703421596, Material 1005GECMLS - Masonry Grade E LS/DO, Acceptance Action Generic 1005GECMLS is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034215, Project Item Line Number 0420, Material Set 703421596, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034215, Project Item Line Number	Waiting on 28 day breaks. leez1	leez1	Overridden

Revision 4/1/2020 Page 7 of 30



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
0420, Material Set 703421596, Material 1053CSSIL - Concrete Sealer (CS) - Silane Q, Acceptance Action Generic 1053CSSIL is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 1005GECMLS - Masonry Grade E LS/DO, Acceptance Action Generic 1005GECMLS is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7034215, Project Item Line Number 0880, Material Set 703421596, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1036RSDFPL42M19 - Reinforcing Steel No. 6/M19 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7034222, Project Item Line Number 0430, Material Set 703422296, Material 1036RSDFPL42M25 - Reinforcing Steel No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting on 28 day breaks. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7250418, Project Item Line Number 0210, Material Set 725041896, Material 1020CPCSZC.018 - CulvPipe Zn Ctd Corrug Stl 18" 450mm, Acceptance Action Generic 1020CPCSZC.018 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7250418, Project Item Line Number 0690, Material Set 725041896, Material 1020CPCSZC.018 - CulvPipe Zn Ctd Corrug Stl 18" 450mm, Acceptance Action Generic 1020CPCSZC.018 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7250424, Project Item Line Number 0700, Material Set 725042496, Material 1020CPCSZC.024 - CulvPipe Zn Ctd Corrug Stl 24" 600mm, Acceptance Action Generic 1020CPCSZC.024 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7250430, Project Item Line Number 0220, Material Set 725043096, Material 1020CPCSZC.030 - CulvPipe Zn Ctd Corrug Stl 30" 750mm, Acceptance Action Generic 1020CPCSZC.030 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3264, Item 7250430, Project Item Line Number 0710, Material Set 725043096, Material 1020CPCSZC.030 - CulvPipe Zn Ctd Corrug Stl 30" 750mm, Acceptance Action Generic 1020CPCSZC.030 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7250448, Project Item Line Number 0230, Material Set 725044896, Material 1020CPCSZC.048 - CulvPipe Zn Ctd Corrug Stl 48" 1200mm, Acceptance Action Generic 1020CPCSZC.048 is insufficient.	Waiting on QC results. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7259902, Project Item Line Number 0240, Material Set 7259902, Material 0614DFFG18 - Automatic Floodgate 18" (450mm), Acceptance Action Generic 0614DFFG18 is insufficient.	Waiting on PAL. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7259902, Project Item Line Number 0250, Material Set 7259902, Material 0614DFFG48 - Automatic Floodgate 48" (1200 mm), Acceptance Action Generic 0614DFFG48 is insufficient.	Waiting on PAL. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7320818A, Project Item Line Number 0260, Material Set 7320818A96, Material 1020ESZN - Flared End Section Zinc galvanized steel, Acceptance Action Generic PipeDrainageMisc is insufficient.	Waiting on PAL. leez1	leez1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7320830A, Project Item Line Number 0270, Material Set 7320830A96, Material 1020ESZN - Flared End Section Zinc galvanized steel, Acceptance Action Generic PipeDrainageMisc is insufficient.	Waiting on PAL. leez1	leez1	Overridden

Revision 4/1/2020 Page 8 of 30



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3263, Item 7320848A, Project Item Line Number 0280, Material Set 7320848A96, Material 1020ESZN - Flared End Section Zinc galvanized steel, Acceptance Action Generic PipeDrainageMisc is insufficient.	Waiting on PAL. leez1	leez1	Overridden

Revision 4/1/2020 Page 9 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted ame Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-H06	J9S3263	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,000.00	\$4,000.00
		0001	0020	2064000	POROUS BACKFILL	54.00	0.00	54.00	CUYD	54.00	\$68.00	\$3,672.00
		0001	0030	2079909	MISC.MODIFIED LINEAR GRADING, CLASS 2	1.70	0.00	1.70	STA	1.70	\$2,400.00	\$4,080.00
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	195.00	0.00	195.00	SQYD	195.00	\$14.00	\$2,730.00
		0001	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	84.00	0.00	84.00	TONS	0.00	\$25.00	\$0.00
		0001	0060	4019905	MISC.OPTIONAL PAVEMENT	194.80	0.00	194.80	SQYD	0.00	\$59.45	\$0.00
		0001	0070	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	1,224.00	0.00	1,224.00	CUYD	0.00	\$20.00	\$0.00
		0001	0080	6096041	PLACING TYPE 1 ROCK DITCH LINER	1,224.00	0.00	1,224.00	CUYD	0.00	\$36.00	\$0.00
		0001	0090	6113020	FURNISHING TYPE 2 ROCK BLANKET	289.00	0.00	289.00	CUYD	289.00	\$20.00	\$5,780.00
		0001	0100	6113040	PLACING TYPE 2 ROCK BLANKET	289.00	0.00	289.00	CUYD	289.00	\$30.00	\$8,670.00
		0001	0110	6161005	CONSTRUCTION SIGNS	676.00	0.00	676.00	SQFT	676.00	\$4.00	\$2,704.00
		0001	0120	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$35.00	\$140.00
		0001	0130	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.00	\$40.00
		0001	0140	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$125.00	\$1,250.00
		0001	0150	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$70,000.00	\$0.00
		0001	0151	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.50	\$58,034.00	\$29,017.00
		0001	0160	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,000.00	0.00	1,000.00	LF	0.00	\$1.20	\$0.00
		0001	0170	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	528.00	0.00	528.00	LF	0.00	\$1.20	\$0.00
		0001	0180	6207001	PAVEMENT MARKING REMOVAL	2,800.00	0.00	2,800.00	LF	0.00	\$0.50	\$0.00
		0001	0190	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	433.00	0.00	433.00	SQYD	433.00	\$3.00	\$1,299.00
		0001	0200	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.00
		0001	0210	7250418	18 IN. PIPE GROUP C	102.00	0.00	102.00	LF	102.00	\$35.00	\$3,570.00
		0001	0220	7250430	30 IN. PIPE GROUP C	72.00	0.00	72.00	LF	72.00	\$45.00	\$3,240.00
		0001	0230	7250448	48 IN. PIPE GROUP C	91.00	0.00	91.00	LF	91.00	\$67.00	\$6,097.00
		0001	0240	7259902	MISC.FLAP GATE 18"	1.00	0.00	1.00	EA	1.00	\$800.00	\$800.00
		0001	0250	7259902	MISC.FLAP GATE 48"	1.00	0.00	1.00	EA	1.00	\$1,500.00	\$1,500.00
		0001	0260	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$285.00	\$285.00
		0001	0270	7320830A	30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$575.00	\$1,150.00
		0001	0280	7320848A	48 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,575.00	\$1,575.00
		0001	0290	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$3,400.00	\$0.00
		0001	0300	8061005	ROCK DITCH CHECK	48.00	0.00	48.00	LF	0.00	\$22.50	\$0.00
		0001	0310	8061016	SEDIMENT REMOVAL	4.00	0.00	4.00	CUYD	0.00	\$5.00	\$0.00
		0001	0320	8061019	SILT FENCE	419.00	0.00	419.00	LF	0.00	\$3.50	\$0.00
		0001	0330	8061050	TYPE C BERM	168.00	0.00	168.00	LF	0.00	\$10.00	\$0.00
		0010	0340	6063017	TYPE C CRASHWORTHY END TERMINAL	4.00	0.00	4.00	EA	0.00	\$16,000.00	\$0.00
		0070	0350	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	60.00	\$25.00	\$1,500.00
		0070	0360	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.00
		0070	0370	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	55.00	\$77.00	\$4,235.00
		0070	0380	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	216.00	72.00	288.00	LF	288.00	\$90.00	\$25,920.00
		0070	0390	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	2.00	\$3,750.00	\$7,500.00
		0070	0400	7027000	PILE POINT REINFORCEMENT	8.00	2.00	10.00	EA	10.00	\$575.00	\$5,750.00
		0070	0410	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	22.40	0.00	22.40	CUYD	22.40	\$1,000.00	\$22,400.00
		0070	0420	7034215	SAFETY BARRIER CURB	135.00	0.00	135.00	LF	135.00	\$120.00	\$16,200.00
		0070	0430	7034222	SLAB ON CONCRETE BEAM	156.00	0.00	156.00	SQYD	156.00	\$390.00	\$60,840.00

Page 10 of 30 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTI To Date (See repo generated date)
)117-H06	J9S3263	0070	0440	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	152.00	0.00	152.00	LF	152.00	\$325.00	\$49,400.
		0070	0450	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	10.00	\$285.00	\$2,850.
		0070	0460	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400
		0070	0470	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$150.00	\$900.
		0001	5001	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$11,966.00	\$11,966
		0070	5002	7025004	DYNAMIC PILE RESTRIKE TESTING	0.00	2.00	2.00	EA	2.00	\$3,500.00	\$7,000
	Project J	9S3263 - To	otal Value	Posted to D	ate as of Report Generated Date							\$336,460
	J9S3264	0001	0480	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,000.00	\$4,000
		0001	0490	2064000	POROUS BACKFILL	71.00	0.00	71.00	CUYD	71.00	\$68.00	\$4,828
		0001	0500	2079909	MISC. MODIFIED LINEAR GRADING CLASS 2	2.80	0.00	2.80	STA	2.80	\$2,400.00	\$6,720
		0001	0510	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	221.00	0.00	221.00	SQYD	221.00	\$14.00	\$3,094
		0001	0520	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6.00	0.00	6.00	TONS	0.00	\$30.00	\$0
		0001	0530	4019905	MISC.OPTIONAL PAVEMENT	221.00	0.00	221.00	SQYD	0.00	\$59.45	\$0
		0001	0540	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	67.00	0.00	67.00	CUYD	0.00	\$28.00	\$0
		0001	0550	6096041	PLACING TYPE 1 ROCK DITCH LINER	67.00	0.00	67.00	CUYD	0.00	\$30.00	\$0
		0001	0560	6113020	FURNISHING TYPE 2 ROCK BLANKET	470.00	0.00	470.00	CUYD	470.00	\$20.00	\$9,400
		0001	0570	6113040	PLACING TYPE 2 ROCK BLANKET	470.00	0.00	470.00	CUYD	470.00	\$30.00	\$14,100
		0001	0580	6161005	CONSTRUCTION SIGNS	621.00	0.00	621.00	SQFT	621.00	\$4.00	\$2,484
		0001	0590	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$35.00	\$140
		0001	0600	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80
		0001	0610	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$125.00	\$1,25
		0001	0620	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600
		0001	0630	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$70,000.00	\$1
		0001	0631	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.50	\$58,034.00	\$29,01
		0001	0640	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	1,014.00	0.00	1,014.00	LF	0.00	\$1.20	\$1
		0001	0650	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	482.00	0.00	482.00	LF	0.00	\$1.20	\$1
		0001	0660	6207001	PAVEMENT MARKING REMOVAL	3,441.00	0.00	3,441.00	LF	0.00	\$0.50	\$
		0001	0670	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	662.00	0.00	662.00	SQYD	662.00	\$3.00	\$1,98
		0001	0680	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,00
		0001	0690	7250418	18 IN. PIPE GROUP C	97.00	0.00	97.00	LF	97.00	\$35.00	\$3,39
		0001	0700	7250424	24 IN. PIPE GROUP C	35.00	0.00	35.00	LF	35.00	\$42.00	\$1,47
		0001	0710	7250430	30 IN. PIPE GROUP C	130.00	0.00	130.00	LF	130.00	\$48.00	\$6,24
		0001	0720	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$285.00	\$28
		0001	0730	7320824A	24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$385.00	\$38
		0001	0740	7320830A	30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$575.00	\$1,15
		0001	0750	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$3,400.00	\$
		0001	0760	8061005	ROCK DITCH CHECK	40.00	0.00	40.00	LF	0.00	\$22.50	\$
		0001	0770	8061016	SEDIMENT REMOVAL	9.00	0.00	9.00	CUYD	0.00	\$5.00	\$
		0001	0780	8061019	SILT FENCE	505.00	0.00	505.00	LF	0.00	\$3.50	\$
		0001	0790	8061050	TYPE C BERM	245.00	0.00	245.00	LF	0.00	\$10.00	\$
		0010	0800	6063017	TYPE C CRASHWORTHY END TERMINAL	4.00	0.00	4.00	EA	0.00	\$16,000.00	\$
		0070	0810	2061000	CLASS 1 EXCAVATION	80.00	0.00	80.00	CUYD	80.00	\$25.00	\$2,00
		0070	0820	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,00
		0070	0830	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	112.00	0.00	112.00	SQYD	56.00	\$77.00	\$4,31

Revision 4/1/2020 Page 11 of 30



Total Paid / All Items / All Estimates (Including this Estimate)

Contract .CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POST To Date (See repogenerated date)
117-H06	J9S3264	0070	0840	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	400.00	0.00	400.00	LF	400.00	\$98.00	\$39,200.
		0070	0850	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	2.00	\$3,750.00	\$7,500
		0070	0860	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	41.60	0.00	41.60	CUYD	41.60	\$1,000.00	\$41,600
		0070	0870	7034213	SLAB ON CONCRETE I-GIRDER	153.00	0.00	153.00	SQYD	153.00	\$425.00	\$65,025
		0070	0880	7034215	SAFETY BARRIER CURB	151.00	0.00	151.00	LF	151.00	\$120.00	\$18,120
		0070	0890	7056000	TYPE 2 (32 IN.), PRESTRESSED CONCRETE I-GIRDER	150.00	0.00	150.00	LF	150.00	\$240.00	\$36,000
		0070	0900	7123610	SLAB DRAIN	8.00	0.00	8.00	EA	8.00	\$310.00	\$2,480
		0070	0910	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,00
		0070	0920	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$150.00	\$90
		0001	5101	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$11,966.00	\$11,96
	Project J9		tal Value	Posted to D	ate as of Report Generated Date							\$363,72
	J9S3278	0001	0930	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$
		0001	0940	2064000	POROUS BACKFILL	54.00	0.00	54.00	CUYD	0.00	\$68.00	\$
		0001	0950	2079909	MISC.MODIFIED LINEAR GRADING, CLASS 2	3.60	0.00	3.60	STA	0.00	\$2,400.00	\$
		0001	0960	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	1,308.00	0.00	1,308.00	SQYD	0.00	\$14.00	\$
		0001	0965	3049905	MISC.RIGID GEOGRID TO ENHANCE AGGREGATE	654.00	0.00	654.00	SQYD	0.00	\$3.00	\$
		0001	0970	4019905	MISC.OPTIONAL PAVEMENT	654.00	0.00	654.00	SQYD	0.00	\$57.90	\$
		0001	0980	6057000	AGGREGATE DRAIN	31.00	0.00	31.00	LF	0.00	\$25.00	\$
		0001	0990	6113020	FURNISHING TYPE 2 ROCK BLANKET	364.00	0.00	364.00	CUYD	0.00	\$20.00	\$
		0001	1000	6113040	PLACING TYPE 2 ROCK BLANKET	364.00	0.00	364.00	CUYD	0.00	\$30.00	
		0001	1010	6161005	CONSTRUCTION SIGNS	656.00	0.00	656.00	SQFT	0.00	\$4.00	
		0001	1020	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$35.00	
		0001	1030	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$20.00	
			1040	6161030	TYPE III MOVEABLE BARRICADE	8.00	0.00	8.00	EA	0.00	\$125.00	
		0001	1050	6181000	MOBILIZATION	1.00	-1.00	0.00	LS		\$75,000.00	
		0001										
		0001	1051	6181000	MOBILIZATION	0.00	1.00	1.00	LS		\$63,034.00	\$
		0001	1060	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	949.00	0.00	949.00	LF	0.00	\$1.20	\$
		0001	1070	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	558.00	0.00	558.00	LF	0.00	\$1.20	\$
		0001	1080	6207001	PAVEMENT MARKING REMOVAL	2,652.00	0.00	2,652.00	LF	0.00	\$0.50	\$
		0001	1100	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	546.00	0.00	546.00	SQYD	0.00	\$3.00	\$
		0001	1110	6240104A	SEPARATION GEOTEXTILE	714.00	0.00	714.00	SQYD	0.00	\$3.00	\$
		0001	1120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,000.00	(
		0001	1130	7250415	15 IN. PIPE GROUP C	60.00	0.00	60.00	LF	0.00	\$32.00	\$
		0001	1140	7250424	24 IN. PIPE GROUP C	80.00	0.00	80.00	LF	0.00	\$42.00	\$
		0001	1150	7259902	MISC.FLAP GATE FOR 15 IN. PIPE	1.00	0.00	1.00	EA	0.00	\$750.00	\$
		0001	1160	7259902	MISC.FLAP GATE FOR 24 IN. PIPE	1.00	0.00	1.00	EA	0.00	\$800.00	
		0001	1170	7320815A	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END	1.00	0.00	1.00	EA	0.00	\$250.00	
		0001	1180	7320824A	SECTION 24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$350.00	\$
		0001	1190	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$3,400.00	\$
		0001	1200	8061005	ROCK DITCH CHECK	96.00	0.00	96.00	LF	0.00	\$22.50	\$
		0001	1210	8061016	SEDIMENT REMOVAL	30.00	0.00	30.00	CUYD	0.00	\$5.00	\$
		0001	1220	8061019	SILT FENCE	330.00	0.00	330.00	LF	0.00	\$4.50	5
		0001	1230	8061050	TYPE C BERM	232.00	0.00	232.00	LF	0.00	\$10.00	<u> </u>
		0010	1240	6063017	TYPE C CRASHWORTHY END TERMINAL	4.00	0.00	4.00	EA		\$16,000.00	
												,

Revision 4/1/2020 Page 12 of 30



Total Paid / All Items / All Estimates (Including this Estimate)

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
00117-H06	J9S3278	0070	1260	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.0
		0070	1270	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	0.00	\$77.00	\$0.0
		0070	1280	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	420.00	0.00	420.00	LF	0.00	\$98.00	\$0.0
		0070	1290	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	0.00	\$3,750.00	\$0.0
		0070	1300	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	24.40	0.00	24.40	CUYD	0.00	\$1,000.00	\$0.0
		0070	1310	7034215	SAFETY BARRIER CURB	140.00	0.00	140.00	LF	0.00	\$120.00	\$0.0
		0070	1320	7034222	SLAB ON CONCRETE BEAM	156.00	0.00	156.00	SQYD	0.00	\$400.00	\$0.
		0070	1330	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	152.00	0.00	152.00	LF	0.00	\$325.00	\$0.
		0070	1340	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	0.00	\$285.00	\$0
		0070	1350	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0
		0070	1360	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	0.00	\$150.00	\$0.
		0001	5201	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$11,966.00	\$11,966
	Project J	9S3278 - To	tal Value	Posted to D	ate as of Report Generated Date							\$11,966
	J9S3279	0001	1370	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$0
		0001	1380	2063000	CLASS 3 EXCAVATION	45.00	0.00	45.00	CUYD	0.00	\$25.00	\$0
		0001	1390	2064000	POROUS BACKFILL	52.00	0.00	52.00	CUYD	0.00	\$68.00	\$0
		0001	1400	2079909	MISC.Mod. Linear Grading Class 2	1.80	0.00	1.80	STA	0.00	\$2,400.00	\$0
		0001	1410	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	205.00	0.00	205.00	SQYD	0.00	\$14.00	\$0
		0001	1420	3105002	GRAVEL (A) OR CRUSHED STONE (B)	9.00	0.00	9.00	TONS	0.00	\$30.00	\$0
		0001	1430	5029905	MISC.Optional Pavement	205.00	0.00	205.00	SQYD	0.00	\$59.45	\$0
		0001	1440	6044012	PIPE COLLAR, TYPE B	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0
		0001	1450	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$20.00	\$0
		0001	1460	6096041	PLACING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$30.00	\$0
		0001	1470	6113020	FURNISHING TYPE 2 ROCK BLANKET	332.00	0.00	332.00	CUYD	0.00	\$20.00	\$0
		0001	1480	6113040	PLACING TYPE 2 ROCK BLANKET	332.00	0.00	332.00	CUYD	0.00	\$30.00	\$0
		0001	1490	6161005	CONSTRUCTION SIGNS	706.00	0.00	706.00	SQFT	706.00	\$5.50	\$3,883
		0001	1500	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA.	4.00	\$35.00	\$140
		0001	1510	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80
		0001	1520	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$125.00	\$1,250
		0001	1530	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600
		0001	1540	6181000	RETAINED MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$70,000.00	\$0
		0001	1541	6181000	MOBILIZATION	0.00	1.00	1.00	LS		\$58,034.00	\$14,508
		0001	1550		4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,852.00	0.00	1,852.00	LF	0.00	\$1.10	\$0
		0001	1560	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	560.00	0.00	560.00	LF	0.00	\$1.10	\$0
		0001	1570	6207001	PAVEMENT MARKING REMOVAL	4,094.00	0.00	4,094.00	LF	0.00	\$0.50	\$0
		0001	1580	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	498.00	0.00	498.00	SQYD	0.00	\$3.00	\$0
		0001	1590	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0
		0001	1600	7250424	24 IN. PIPE GROUP C	111.00	0.00	111.00	LF	0.00	\$35.00	\$0
		0001	1610	7250430	30 IN. PIPE GROUP C	182.00	0.00	182.00	LF	0.00	\$48.00	\$0
		0001	1620	7320824A	24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END	2.00	0.00	2.00	EA	0.00	\$350.00	\$(
		0001	1630	7320830A	SECTION 30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END	2.00	0.00	2.00	EA	0.00	\$550.00	\$(
					SECTION							
		0001	1640	7329902	MISC.FLAP GATE FOR 24in. PIPE	1.00	0.00	1.00	EA	0.00	\$800.00	\$0
		0001	1650	7329902	MISC.FLAP GATE FOR 36in. PIPE	2.00	0.00	2.00	EA	0.00	\$1,075.00	\$0
		0001	1660	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$3,400.00	\$0

Revision 4/1/2020 Page 13 of 30



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0117-H06	J9S3279	0001	1670	8061005	ROCK DITCH CHECK	48.00	0.00	48.00	LF	0.00	\$22.50	\$0.00
		0001	1680	8061016	SEDIMENT REMOVAL	7.00	0.00	7.00	CUYD	0.00	\$5.00	\$0.00
		0001	1690	8061019	SILT FENCE	234.00	0.00	234.00	LF	0.00	\$4.50	\$0.00
		0001	1700	8061050	TYPE C BERM	277.00	0.00	277.00	LF	0.00	\$10.00	\$0.00
		0001	1710	8064140	TYPE 3B EROSION CONTROL BLANKET	539.00	0.00	539.00	SQYD	0.00	\$3.00	\$0.00
		0010	1720	6063017	TYPE C CRASHWORTHY END TERMINAL	4.00	0.00	4.00	EA	0.00	\$16,000.00	\$0.00
		0070	1730	2061000	CLASS 1 EXCAVATION	75.00	0.00	75.00	CUYD	0.00	\$25.00	\$0.00
		0070	1740	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.00
		0070	1750	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	107.00	0.00	107.00	SQYD	0.00	\$77.00	\$0.00
		0070	1760	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	280.00	0.00	280.00	LF	0.00	\$75.00	\$0.00
		0070	1770	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	0.00	\$3,750.00	\$0.00
		0070	1780	7027000	PILE POINT REINFORCEMENT	10.00	0.00	10.00	EA	0.00	\$560.00	\$0.00
		0070	1790	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	24.10	0.00	24.10	CUYD	0.00	\$1,000.00	\$0.0
		0070	1800	7034213	SLAB ON CONCRETE I-GIRDER	170.00	0.00	170.00	SQYD	0.00	\$400.00	\$0.0
		0070	1810	7034215	SAFETY BARRIER CURB	153.00	0.00	153.00	LF	0.00	\$120.00	\$0.00
		0070	1820	7056000	TYPE 2 (32 IN.), PRESTRESSED CONCRETE I-GIRDER	223.00	0.00	223.00	LF	0.00	\$231.00	\$0.0
		0070	1830	7123301	STEEL INTERMEDIATE DIAPHRAGM FOR P/S CONCRETE GIRDERS	3.00	0.00	3.00	EA	0.00	\$575.00	\$0.00
		0070	1840	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	0.00	\$300.00	\$0.00
		0070	1850	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.0
		0070	1860	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	0.00	\$150.00	\$0.0
		0001	5301	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$11,966.00	\$11,966.0
	Project J	9S3279 - To	otal Value	Posted to D	late as of Report Generated Date							\$37,427.5
117-H06 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$749,580.5

Revision 4/1/2020 Page 14 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3263

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2064000	POROUS BACKFILL	5/8/20	5/18/20	27.00	CUYD	Bridge A8798 MO 91	338+55	RT/LT of CL	338+60	RT/LT of CL	Area: 5'x6'x24' = 720 cuFT / 27 = 26.7 CUYD Pay: 27 CUYD
				5/18/20	27.00	CUYD	Bridge A8798 MO 91	339+12	RT/LT of CL	339+17	RT/LT of CL	Area: 5'x6'x24' = 720 cuFT / 27 = 26.7 CUYD Pay: 27 CUYD
0030	2079909	MISC. GRADING	5/8/20	5/18/20	0.52	STA	Bridge A8798 MO 91	338+00	RT/LT of CL	339+70	RT/LT of CL	Grading for 4 driveways: 2 @ Sta 338+00 RT/LT, 2 @ Sta 339+70 RT/LT
				5/18/20	0.58	STA	Bridge A8798 MO 91	339+12	RT/LT of CL	339+70	RT/LT of CL	
				5/18/20	0.60	STA	Bridge A8798 MO 91	338+00	RT/LT of CL	338+60	RT/LT of CL	
0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	5/8/20	5/18/20	95.00	SQYD	Bridge A8798 MO 91	339+32	RT/LT of CL	339+70	RT/LT of CL	Area: 38'x22.5' = 855 sqFT / 9 = 95 SqYD Pay: 95 SQYD
				5/18/20	100.00	SQYD	Bridge A8798 MO 91	338+00	RT/LT of CL	338+40	RT/LT of CL	Area: 40'x22.5' = 900 sqft / 9 = 100 SQYD Pay: 100 SqYD
0370	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	5/15/20	5/18/20	55.00	SQYD	Bridge A8798 MO 91	338+40	RT/LT of CL	339+32	RT/LT of CL	Paying 50% of line quantity because contractor only has asphalt left to place.
0420	7034215	SAFETY BARRIER CURB	5/11/20	5/18/20	135.00	LF	Bridge A8798 MO 91	338+40	RT/LT of CL	339+32	RT/LT of CL	
0460	7151001	VERTICAL DRAIN AT END BENTS	5/4/20	5/18/20	1.00	EA	Bridge A8798 MO 91	338+60	RT/LT of CL			
				5/18/20	1.00	EA	Bridge A8798 MO 91	339+12	RT/LT of CL			

Project: J9S3264

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0490	2064000	POROUS BACKFILL	5/7/20	5/18/20	35.50	CUYD	Bridge A8799 MO 91	389+98	RT/LT of CL	390+03	RT/LT of CL	Area: 5'x8'x24' = 960 sqft / 27 = 35.5 cuft Pay: 35.5 CUFT
				5/18/20	35.50	CUYD	Bridge A8799 MO 91	390+54	RT/LT of CL	390+59	RT/LT of CL	Area: 5'x8'x24' = 960 sqft / 27 = 35.5 cuft Pay: 35.5 CUFT
0500	2079909	MISC. GRADING	5/7/20	5/18/20	0.51	STA	Bridge A8799 MO 91	389+41	RT/LT of CL	391+17	RT/LT of CL	Grading for 3 driveways: 2 @ Sta 389+41 RT/LT, 1 @ St 391+17 RT Grading for 1 Ditch block: 1 @ Sta 391+17 LT
				5/18/20	1.03	STA	Bridge A8799 MO 91	389+00	RT/LT of CL	390+03	RT/LT of CL	
				5/18/20	1.26	STA	Bridge A8799 MO 91	390+54	RT/LT of CL	391+80	RT/LT of CL	
0510	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	5/7/20	5/18/20	110.50	SQYD	Bridge A8799 MO 91	389+41	RT/LT of CL	389+83	RT/LT of CL	Area: 41.5'x24' = 996 sqft / 9 = 110.5 sqyd Pay: 110.5 sqYD
				5/18/20	110.50	SQYD	Bridge A8799 MO 91	390+75	RT/LT of CL	391+17	RT/LT of CL	Area: 41.5'x24' = 996 sqft / 9 = 110.5 sqyd Pay: 110.5 sqYD
0830	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	5/15/20	5/18/20	56.00	SQYD	Bridge A8799 MO 91	389+83	RT/LT of CL	390+74.5	RT/LT of CL	Paying 50% of line quantity because contractor only has asphalt left to place.
0880	7034215	SAFETY BARRIER CURB	5/11/20	5/18/20	151.00	LF	Bridge A8799 MO 91	390+03	RT/LT of CL	390+54.5	RT/LT of CL	

Project: J9S3279

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1490	6161005	CONSTRUCTION SIGNS	5/11/20	5/18/20	706.00	SQFT	Bridge A8772 MO 91	12+04.5	RT/LT of CL	13+81	RT/LT of CL	
1500	6161008	ADVANCED WARNING RAIL SYSTEM	5/11/20	5/18/20	4.00	EA	Bridge A8772 MO 91	12+04.5	RT/LT of CL	13+81	RT/LT of CL	AWRS Locations: East of bridge \$190, 20A. 37"218" N 89"452" W \$190, 20. 37"218" N 89"4455" W West of bridge \$190, 20A. 37"218" N 89"4527" W \$190, 20A. 37"218" N 89"4533" W
1510	6161009	FLAG ASSEMBLY	5/11/20	5/18/20	4.00	EA	Bridge A8772 MO 91	12+04.5	RT/LT of CL	13+81	RT/LT of CL	Flag Locations: East of bridge \$19in 20A. 37"218" N 89"452" W \$1gn 20. 37"216" N 89"4455" W West of bridge \$1gn 20A. 37"218" N 89"4523" W \$1gn 20. 37"218" N 89"4533" W
1520	6161030	TYPE III MOVEABLE BARRICADE	5/11/20	5/18/20	2.00	EA	Bridge A8772 MO 91	12+04.5	RT/LT of CL			2 Barricades West of Bridge 37°2'18" N 89°45'49" W
				5/18/20	2.00	EA	Bridge A8772 MO 91	13+81	RT/LT of CL			2 Barricades East of Bridge 37°2'18" N 89°43'36" W
				5/18/20	3.00	EA	Bridge A8772 MO 91	18+21.5	RT/LT of CL			
				5/18/20	3.00	EA	Bridge A8772 MO 91	7+64	RT/LT of CL			
1541	6181000	MOBILIZATION	5/11/20	5/18/20	0.25	LS	Bridge A8772 MO 91	12+04.5	RT/LT of CL	13+81	RT/LT of CL	Mobilization Payment: Initial Mob = \$70,000 Bond Payment = \$11,966 Adj Mob = \$58,034 (Init. Mob - Bond Pay = Adj Mob) Contract Total = \$477,043.45 When 5% of contract complete, pay 25% of Adjusted Mobilization Items Paid to Date = \$22,919 \$% of Adj Mob = \$23,852.17 Items paid to date is close to 5% Adj Mob Therefore pay 25% of Adj. Mob

The information below this line are details from Line Item agency views.

Contract ID: 200117-H06

DWR Date: May 11, 2020

Line Number: 0110

Description: CONSTRUCTION SIGNS

Quantity Posted: 706

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038366,			WO20-2 48x48 16.00		1.00		16	16

Revision 4/1/2020 Page 15 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work. The information below this line are details from Line Item agency views.

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
9.715601			DETOUR AHEAD					
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
.035128, 9.798725	Log mile	Oddion	WO20-2 48x48 16.00 DETOUR AHEAD	opodal olgi	1.00	or openial orgin	16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
038333, 0.759167			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
.038333, -89.7575			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 9.750556			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 9.748611			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00		16	16
Location 7.037906, 99.798499	Log Mile	Station	Sign Number MO4-8a 24x18 3.00 END DETOUR	Special Sign	Number of Items 1.00	SF Special Sign	Units Each	Total SF Pay
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SE Special Sign	Units Each	Total SF Pay
7.038362, 9.720828	Log wille	Station	MO4-8a 24x18 3.00 END DETOUR	Special Sign	1.00	SF Special Sign	3	3
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
LOCALIOTI	Log wille	18+21.5 CL	R11-2 48x30 10.00 ROAD CLOSED	Opecidi Sigii	1.00	ог ореша оідп	10	10
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
	J	7+64 CL	R11-2 48x30 10.00 ROAD CLOSED	,	1.00		10	10
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 9.763611			R11-4 60x30 12.50 ROAD CLOSED TO THRU TRAFFIC		1.00		12.5	12.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 9.726667			R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY		1.00		12.5	12.5
Location	L = = MGI=	Station	Cian Number	Canada Cina	Number of Items	OF Consist Cine	Units Each	T-t-LCE D
7.038391, 9.719126	Log Mile	Station	Sign Number special ??x?? ??.00 NO PASSING ZONE	Special Sign	1.00	SF Special Sign 19.50	Units Each	Total SF Pay
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038362, 19.720828	Log mile	Oddion	special ??x?? ??.00 NO PASSING ZONE	opodal olgi	1.00	19.50	Onto Edon	19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.03875, -89.721282			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.04008, -89.720979			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.060932, 39.713776			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.060932, 39.713776			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.060932, 39.713776			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location 7.060932, 89.713776	Log Mile	Station	Sign Number special ??x?? ??.00 NO PASSING ZONE	Special Sign	Number of Items 1.00	SF Special Sign 19.50	Units Each	Total SF Pay
Location 7.0801, -89.712353	Log Mile	Station	Sign Number special ??x?? ??.00 NO PASSING ZONE	Special Sign	Number of Items 1.00	SF Special Sign 19.50	Units Each	Total SF Pay
Lasatia	1	0.0		Const. 1.01	Ali. 1 Cii	05.0	1 11 11 11 11 11 11 11 11 11 11 11 11 1	7.1055
Location 7.08149, -89.712331	Log Mile	Station	Sign Number special ??x?? ??.00 NO PASSING ZONE	Special Sign	Number of Items 1.00	SF Special Sign 19.50	Units Each	Total SF Pay
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.081875, 19.712335	Log wille	Station	special ??x?? ??.00 NO PASSING ZONE	Special Sign	1.00	19.50	Onio Edul	19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.081927, 39.714616	9	Sanoi.	special ??x?? ??.00 NO PASSING ZONE		1.00	19.50	Jimo Edoi.	19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082066, 39.739406	J		special ??x?? ??.00 NO PASSING ZONE	,	1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082066,			special ??x?? ??.00 NO		1.00	19.50		19.5

Revision 4/1/2020 Page 16 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
89.739406			PASSING ZONE					
Location 87.082039,	Log Mile	Station	Sign Number special ??x?? ??.00 NO	Special Sign	Number of Items	SF Special Sign 19.50	Units Each	Total SF Pay
89.774261			PASSING ZONE					
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.082665, -89.775852			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.082645, -89.776632			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.082329, -89.77823			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.062365, -89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.062365, 89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038302, 89.724092			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038349, -89.722488			special ??x?? ??.00 NO PASSING ZONE		1.00	20.00		20
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038435, -89.717401			SPECIAL 7 96x48 32.00 POINT OF PRESENCE		1.00		32	32

Description: CONSTRUCTION SIGNS

Quantity Posted: 706	6	
----------------------	---	--

Quantity Posted: 706	3							
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038366, 89.715601			WO20-2 48x48 16.00 DETOUR AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.035128, 89.798725			WO20-2 48x48 16.00 DETOUR AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
87.038333, 89.759167			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038333, -89.7575			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 39.750556			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038333, 39.748611			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.037906, 39.798499			MO4-8a 24x18 3.00 END DETOUR		1.00		3	3
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038362, 39.720828			MO4-8a 24x18 3.00 END DETOUR		1.00		3	3
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		18+21.5 CL	R11-2 48x30 10.00 ROAD CLOSED		1.00		10	10
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		7+64 CL	R11-2 48x30 10.00 ROAD CLOSED		1.00		10	10

Revision 4/1/2020 Page 17 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.038333, 19.763611			R11-4 60x30 12.50 ROAD CLOSED TO THRU TRAFFIC		1.00			12.5	12.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
.038333,	9		R11-3a 60x30 12.50 ROAD		1.00			12.5	12.5	
9.726667			CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY							
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.038391, 9.719126			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.038362, 9.720828	•		special ??x?? ??.00 NO PASSING ZONE	, ,	1.00		19.50		19.5	,
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
.03875, -89.721282	•		special ??x?? ??.00 NO PASSING ZONE	, ,	1.00		19.50		19.5	,
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
.04008, -89.720979			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.060932, 9.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.060932, 9.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.060932, 9.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.060932, 9.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.0801, -89.712353			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.08149, -89.712331			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.081875, 9.712335			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.081927, 9.714616			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082066, 9.739406			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082066, 9.739406			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082039, 19.774261			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082665, 9.775852			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082645, 9.776632			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.082329, -89.77823			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.062365, 9.802424			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.062365, 9.802424			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.037876, 19.798438			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.037876, 9.798438			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50		19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign	Units Each		Total SF Pay
7.037876,			special ??x?? ??.00 NO		1.00		19.50		19.5	

Revision 4/1/2020 Page 18 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details from Line Item angrey views

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038302, -89.724092			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038349, -89.722488			special ??x?? ??.00 NO PASSING ZONE		1.00	20.00		20
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038435, -89.717401			SPECIAL 7 96x48 32.00 POINT OF PRESENCE		1.00		32	32

autitic Dantad: 700											
uantity Posted: 706	•										
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038366, -89.715601			WO20-2 48x48 16.00 DETOUR AHEAD		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.035128, -89.798725			WO20-2 48x48 16.00 DETOUR AHEAD		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.759167			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.7575			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.750556			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.748611			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00			16		16	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.037906, -89.798499			MO4-8a 24x18 3.00 END DETOUR		1.00			3		3	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038362, -89.720828			MO4-8a 24x18 3.00 END DETOUR		1.00			3		3	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
		18+21.5 CL	R11-2 48x30 10.00 ROAD CLOSED		1.00			10		10	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
		7+64 CL	R11-2 48x30 10.00 ROAD CLOSED		1.00			10		10	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.763611			R11-4 60x30 12.50 ROAD CLOSED TO THRU TRAFFIC		1.00			12.5		12.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038333, -89.726667			R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY		1.00			12.5		12.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038391, -89.719126	3		special ??x?? ??.00 NO PASSING ZONE	, ,	1.00		19.50			19.5	,
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.038362, -89.720828	J		special ??x?? ??.00 NO PASSING ZONE	, ,	1.00		19.50			19.5	Í
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.03875, -89.721282			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50			19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.04008, -89.720979			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50			19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.060932, -89.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50			19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.060932, -89.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50			19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.060932, -89.713776			special ??x?? ??.00 NO PASSING ZONE		1.00		19.50			19.5	
Location	Log Mile	Station	Sign Number	Special Sign		Number of Items	SF Special Sign		Units Each		Total SF Pay
37.060932,			special ??x?? ??.00 NO		1.00		19.50			19.5	

Revision 4/1/2020 Page 19 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work. The information below this line are details from Line Item agency views.

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
9.713776			PASSING ZONE					
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.0801, -89.712353	•		special ??x?? ??.00 NO PASSING ZONE	, ,	1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.08149, -89.712331			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.081875, 89.712335			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.081927, 89.714616			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082066, 89.739406			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082066, 89.739406			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082039, 89.774261			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082665, 89.775852			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082645, 89.776632			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082329, -89.77823			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.062365, 89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
17.062365, 89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
87.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038302, 89.724092			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.038349, 89.722488			special ??x?? ??.00 NO PASSING ZONE		1.00	20.00		20
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038435,			SPECIAL 7 96x48 32.00 POINT OF PRESENCE		1.00		32	32

Description: CONSTRUCTION SIGNS Quantity Posted: 706

Quantity Posted: 706	5							
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038366, -89.715601			WO20-2 48x48 16.00 DETOUR AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.035128, -89.798725			WO20-2 48x48 16.00 DETOUR AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038333, -89.759167			WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.00		16	16
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038333, -89.7575			WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16

Revision 4/1/2020 Page 20 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details from Line Item agency views.

Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		WO20-3a 4x4 16.00 ROAD CLOSED 500 FT		1.00		16	16
	0		0 :10:	At 1 70	050 110		T. 1.05.0
Log Mile	Station		Special Sign		SF Special Sign		Total SF Pay
		CLOSED AHEAD					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		MO4-8a 24x18 3.00 END DETOUR		1.00		3	3
	0		0 :10:	At 1 70	050 (10)		T. 1.05.0
Log Mile	Station		Special Sign		SF Special Sign		Total SF Pay
		DETOUR 24X10 3.00 END		1.00		3	3
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
	18+21.5 CL	R11-2 48x30 10.00 ROAD		1.00		10	10
Log Mile			Special Sign		SF Special Sign		Total SF Pay
	7+04 CL	CLOSED 10.00 ROAD		1.00		10	10
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		R11-4 60x30 12.50 ROAD		1.00		12.5	12.5
		CLOSED TO THRU TRAFFIC					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		CLOSED XX MILES AHEAD		1.00		12.5	12.5
		LOCAL TRAFFIC ONLY					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
l on Mile	Station	Sign Number	Special Sign	Number of Items	SE Special Sign	Unite Each	Total SF Pay
LOG WITE	Station	special ??x?? ??.00 NO	Opedal Sign	1.00	19.50	Jillis Eduli	19.5
		PASSING ZONE					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Log Mile	Station		Special Sign			Units Each	Total SF Pay
		PASSING ZONE		1.00	19.30		19.5
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO		1.00	19.50		19.5
		PASSING ZONE					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
I og Mile	Station	Sian Number	Special Sign	Number of Items	SE Special Sign	Units Each	Total SF Pay
9		special ??x?? ??.00 NO		1.00	19.50		19.5
		PASSING ZONE					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
1 140-	Distin-		Consist Cine	North and the second	OF Caracial Circ	Hair Fact	Tetal OF Day
Log Mile	Station	special 22x22 22 00 NO	Special Sign			Units Each	Total SF Pay
		PASSING ZONE					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONF		1.00	19.50		19.5
Log Mile	Station		Special Sign			Units Each	Total SF Pay
		PASSING ZONE		1.00	18.30		18.0
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO	•	1.00	19.50		19.5
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
I on Mile	Station	Sign Number	Special Sign	Number of Itame	SE Special Sign	Unite Each	Total SF Pay
LOG WITE	Station	special ??x?? ??.00 NO	opedal sign	1.00	19.50	Jillis Eduli	19.5
		PASSING ZONE					
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO		1.00	19.50		19.5
Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		special ??x?? ??.00 NO		1.00	19.50		19.5
		PASSING ZONE					
Log Mile	Station		Special Sign	Number of Items	SF Special Sign	Units Fach	Total SF Pav
Log Mile	Station	Sign Number special ??x?? ??.00 NO PASSING ZONE	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
	Log Mile Log Mile	Log Mile Station Log Mile Station Log Mile Station Log Mile Station 18+21.5 CL Log Mile Station 7+64 CL Log Mile Station Log Mile Station	WO20-3a	WOOD-36 Ask 16.00 ROAD CLOSED 500 FT C	Log Mile	Log Mile	Log Male

Revision 4/1/2020 Page 21 of 30



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
7.082329, -89.77823			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.062365, 89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.062365, 89.802424			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, 89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.037876, -89.798438			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038302, 89.724092			special ??x?? ??.00 NO PASSING ZONE		1.00	19.50		19.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038349, 89.722488			special ??x?? ??.00 NO PASSING ZONE		1.00	20.00		20
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
37.038435, -89.717401			SPECIAL 7 96x48 32.00 POINT OF PRESENCE		1.00		32	32

Revision 4/1/2020 Page 22 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0020	POROUS BACKFILL	Material		5	May 18, 2020	SYSTEM	(\$3,672.00)	
				5	May 18, 2020	SYSTEM	\$3,672.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0020 -	Total						\$0.00	
0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		5	May 18, 2020	SYSTEM	(\$2,730.00)	
				5	May 18, 2020	SYSTEM	\$2,730.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0040 -	Total						\$0.00	
0110	CONSTRUCTION SIGNS	Material		1	Mar 16, 2020	SYSTEM	(\$2,704.00)	
				1	Mar 16, 2020	SYSTEM	\$2,704.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0110 -	Total						\$0.00	
0120	ADVANCED WARNING RAIL SYSTEM	Material		1	Mar 16, 2020	SYSTEM	(\$140.00)	
				1	Mar 16, 2020	SYSTEM	\$140.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user leez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0120 -	Total						\$0.00	
0130	FLAG ASSEMBLY	Material		1	Mar 16, 2020	SYSTEM	(\$40.00)	
				1	Mar 16, 2020	SYSTEM	\$40.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0130 - 0140	TYPE III MOVEABLE BARRICADE	Material		1	Mar 16,	SYSTEM	\$0.00 (\$1,250.00)	
				1	2020 Mar 16, 2020	SYSTEM	\$1,250.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0140 -	Total						\$0.00	
0210	18 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$3,570.00)	
				4	May 4, 2020	SYSTEM	\$3,570.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user leez1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$3,570.00)	
				5	May 18, 2020	SYSTEM	\$3,570.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user leez1

Revision 4/1/2020 Page 23 of 30



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
2	Soosii,piioii	Туре	Adjustment Type		Date	Ву	7 1110 1111	· Containe
0210	18 IN. PIPE GROUP C	Material						overridding Payment Estimate Exception 62 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0210 -	·Total						\$0.00	
0220	30 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$3,240.00)	
				4	May 4, 2020	SYSTEM	\$3,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user leez1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$3,240.00)	
				5	May 18, 2020	SYSTEM	\$3,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 65 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0220 -	· Total						\$0.00	
0230	48 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$6,097.00)	
				4	May 4, 2020	SYSTEM	\$6,097.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user leez1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$6,097.00)	
				5	May 18, 2020	SYSTEM	\$6,097.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 67 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0230 -	· Total						\$0.00	
0240	MISC. FLAP GATE 18"	Material		4	May 4, 2020	SYSTEM	(\$800.00)	
				4	May 4, 2020	SYSTEM	\$800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$800.00)	
				5	May 18, 2020	SYSTEM	\$800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 68 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0240 -	Total						\$0.00	
0250	MISC. FLAP GATE 48"	Material		4	May 4, 2020	SYSTEM	(\$1,500.00)	
				4	May 4, 2020	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$1,500.00)	
				5	May 18, 2020	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 69 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	Total						\$0.00	
0250 -	· Ottai							

Revision 4/1/2020 Page 24 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0260	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		4	May 4, 2020	SYSTEM	(\$285.00)	
				4	May 4, 2020	SYSTEM	\$285.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$285.00)	
				5	May 18, 2020	SYSTEM	\$285.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user leez1 overridding Payment Estimate Exception 70 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0260 -	Total						\$0.00	
0270	30 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		4	May 4, 2020	SYSTEM	(\$1,150.00)	
				4	May 4, 2020	SYSTEM	\$1,150.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 38 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$1,150.00)	
				5	May 18, 2020	SYSTEM	\$1,150.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user leez1 overridding Payment Estimate Exception 71 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0270 -	Total						\$0.00	
0280	48 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	Material		4	May 4, 2020	SYSTEM	(\$1,575.00)	
				4	May 4, 2020	SYSTEM	\$1,575.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user leez1 overridding Payment Estimate Exception 39 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$1,575.00)	
				5	May 18, 2020	SYSTEM	\$1,575.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user leez1 overridding Payment Estimate Exception 72 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0280 -	Total						\$0.00	
0340	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile		1	Mar 16, 2020	SYSTEM	\$32,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$32,700.00	
	Construction Stockpile - Total						\$32,700.00	
0340 -	Total						\$32,700.00	
0370	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		5	May 18, 2020	SYSTEM	(\$4,235.00)	
				5	May 18, 2020	SYSTEM	\$4,235.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user leez1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0370 -	Total						\$0.00	
0380	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Material		1	Mar 16, 2020	SYSTEM	(\$6,120.00)	
				1	Mar 16, 2020	SYSTEM	\$6,120.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.

Revision 4/1/2020 Page 25 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0380	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Material		2	Apr 2, 2020	SYSTEM	(\$25,290.00)	
				2	Apr 2, 2020	SYSTEM	\$25,290.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user leez1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				3	Apr 16, 2020	SYSTEM	(\$25,920.00)	
				3	Apr 16, 2020	SYSTEM	\$25,920.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	May 4, 2020	SYSTEM	(\$25,920.00)	
				4	May 4, 2020	SYSTEM	\$25,920.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$25,920.00)	
				5	May 18, 2020	SYSTEM	\$25,920.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user leez1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Overrun	Overrun	2	Apr 2, 2020	SYSTEM	\$5,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate.
				2	Apr 2, 2020	SYSTEM	(\$5,850.00)	
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0380 -	Total						\$0.00	
0400	PILE POINT REINFORCEMENT	Material		1	Mar 16, 2020	SYSTEM	(\$4,600.00)	
0400	PILE POINT REINFORCEMENT	Material		1		SYSTEM SYSTEM	(\$4,600.00) \$4,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
0400	PILE POINT REINFORCEMENT	Material			2020 Mar 16,		,	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current
0400	PILE POINT REINFORCEMENT	Material		1	2020 Mar 16, 2020	SYSTEM	\$4,600.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current
0400		Material	- Total	2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2,	SYSTEM	\$4,600.00 (\$5,750.00)	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current
0400	PILE POINT REINFORCEMENT	Material	- Total	2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2,	SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current
0400		Material	- Total Overrun	2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current
0400	Material - Total		Overrun	2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020	SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00)	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
0400	Material - Total			2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
	Material - Total PILE POINT REINFORCEMENT Overrun - Total		Overrun	2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00)	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
0400 -	Material - Total PILE POINT REINFORCEMENT Overrun - Total		Overrun	2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00)	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
	Material - Total PILE POINT REINFORCEMENT Overrun - Total		Overrun	2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00) \$0.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
0400 -	Material - Total PILE POINT REINFORCEMENT Overrun - Total Total	Overrun	Overrun	2 2 2 2 otal	2020 Mar 16, 2020 Apr 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00) \$0.00 \$0.00	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment
0400 -	Material - Total PILE POINT REINFORCEMENT Overrun - Total Total	Overrun	Overrun	2 2 2 2	2020 Mar 16, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020 Apr 2, 2020 Apr 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$4,600.00 (\$5,750.00) \$5,750.00 \$0.00 \$1,150.00 (\$1,150.00) \$0.00 \$0.00 (\$22,400.00)	Payment Estimate Item Adjustment (0007) due to user leez1 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 6 on the current Payment Estimate.

Revision 4/1/2020 Page 26 of 30



Payment Estimate Exception 29 on the current operating Payment Estimate Exception 30 on the current operating Payment Estimate Exception 45 on the current Payment Estimate Exception 5 on the current Payment Estim									
Second Color	Line	Description		Adjustment				Amount	Remarks
Part	0410	CLASS B CONCRETE (SUBSTRUCTURE)	Material						Payment Estimate.
Payment Estimate					5		SYSTEM	(\$22,400.00)	
Material Total					5		SYSTEM	\$22,400.00	
May 18, SYSTEM				- Total				\$0.00	
Page		Material - Total						\$0.00	
Part	0410 -	Total						\$0.00	
Polyment Estimate Item Agustement (2012) doe to use rise over according Payment Estimate Item Agustement (2012) doe to use rise over according Payment Estimate Exception 45 on the current Payment Estimate Item Agustement (2012) doe to user less over adding Payment Estimate Item Agustement (2012) due to user less over adding Payment Estimate Item Agustement (2012) due to user less over adding Payment Estimate Item Agustement (2012) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over adding Payment Estimate Item Agustement (2013) due to user less over add	0420	SAFETY BARRIER CURB	Material		5		SYSTEM	(\$16,200.00)	
National - Total 1900 19					5		SYSTEM	\$16,200.00	
				- Total				\$0.00	
Page		Material - Total						\$0.00	
Page	0420 -	Total						\$0.00	
Payment Estimate Item Adjustment (0003) due to user leave overridding Payment Estimate Item Adjustment (0003) due to user leave overridding Payment Estimate Item Adjustment (0003) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Exception 22 on the current Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Item Adjustment (0011) due to user leave overridding Payment Estimate Exception 55 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 5 on the current Payment Estimate Exception 5 on the current Payment Estimate Item Adjustment (0020) due to user leave overridding Payment Estimate Item Adjustment (0020) due to user leave overridding Payment Estimate Item Adjustment (0020) due to user leave overridding Payment Estimate Item Adjustment (0020) due to user leave overridding Payment Estimate Exception 5 on the current Payment Est			Material		3		SYSTEM		
2020					3		SYSTEM	\$24,336.00	
Payment Estimate lem Adjustment (0011) due to user leaze overridding Payment Estimate Exception 22 on the current Payment Estimate.					4		SYSTEM	(\$60,840.00)	
2020					4		SYSTEM	\$60,840.00	
Payment Estimate Item Adjustment (0013) due to user leez overridding Payment Estimate Exception 55 on the current Payment Estimate Exception 3 on the current Payment Estimate Item Adjustment (0019) due to user leez overridding Payment Estimate Exception 3 on the current Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Exception 5 on the current Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Item Adjustment (0020) due to user leez overrid					5		SYSTEM	(\$60,840.00)	
Material - Total S0.00					5		SYSTEM	\$60,840.00	
Name				- Total			\$0.00		
POROUS BACKFILL Material Total TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) Material - Total TOTAL TOTAL TOTAL TOTAL TOTAL TOTAL SO.00 Material - Total SYSTEM \$4,828.00 This adjustment offsets the original system-generated Over Payment Estimate Item Adjustment (0019) due to user leez overridding Payment Estimate Exception 3 on the current Payment Estimate. TOTAL SO.00 Material - Total SYSTEM \$3,004.00 TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) Material TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) Material TOTAL SYSTEM \$3,094.00 This adjustment offsets the original system-generated Over Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Exception 5 on the current Payment Estimate Exception 5 on the current Payment Estimate Exception 5 on the current Payment Estimate Coordinate Exception 5 on the current Payment Estimate Coordinate Exception 5 on the current Payment Estimate Item Adjustment offsets the original system-generated Over Payment Estimate Item Adjustment Over Payment Estimate Item Adj		Material - Total						\$0.00	
2020	0430 -	Total						\$0.00	
2020 Payment Estimate Item Adjustment (0019) due to user leez: overridding Payment Estimate Exception 3 on the current Payment Estimate. Total	0490	POROUS BACKFILL	Material		5		SYSTEM	(\$4,828.00)	
Material - Total TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) Material TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) THICK) Material TOTAL SU.00 This adjustment offsets the original system-generated Overn Payment Estimate. TOTAL SU.00 TOTAL SU.00 THICK) THICK) THIS ADJUSTMENT OF STATEMENT OF THICK STATEMENT OF THE ADJUSTMENT OF THICK STATEMENT OF THE ADJUSTMENT OF THE ADJUST					5		SYSTEM	\$4,828.00	
Source S				- Total			\$0.00		
TYPE 5 AGGREGATE FOR BASE (6 IN. THICK) THICK		Material - Total						\$0.00	
THICK) 2020 5 May 18, 2020 5 May 18, 2020 This adjustment offsets the original system-generated Oven Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Exception 5 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00 CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR FURNIS	0490 -	Total						\$0.00	
2020 Payment Estimate Item Adjustment (0020) due to user leez overridding Payment Estimate Exception 5 on the current Payment Estimate. Total	0510		Material		5		SYSTEM	(\$3,094.00)	
Material - Total \$0.00 0510 - Total \$0.00 CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR FURNISHED, CONTRACTOR RETAINED CONTRACTOR RETAINED SYSTEM STANDARD SYSTEM SYSTEM STANDARD SYSTEM STANDARD SYSTEM STANDARD SYSTEM STANDARD SYSTEM STANDARD SYSTEM SYSTEM STANDARD SYSTEM SYST					5	May 18, 2020	SYSTEM	\$3,094.00	
0510 - Total CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED CONTRACTOR RETAINED 1 Mar 16, SYSTEM \$5,600.00 This adjustment offsets the original system-generated Over Payment Estimate Item Adjustment (0009) due to user leez overridding Payment Estimate Exception 5 on the current		- Total						\$0.00	
0620 CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED CONTRACTOR RETAINED 1 Mar 16, 2020 SYSTEM \$5,600.00 This adjustment offsets the original system-generated Over Payment Estimate Item Adjustment (0009) due to user leez overridding Payment Estimate Exception 5 on the current		Material - Total						\$0.00	
COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED CONTRACTOR RETAINED 1 Mar 16, 2020 1 Mar 16, 2020 This adjustment offsets the original system-generated Over Payment Estimate Item Adjustment (0009) due to user leez overridding Payment Estimate Exception 5 on the current	0510 -	Total						\$0.00	
CONTRACTOR RETAINED 1 Mar 16, SYSTEM \$5,600.00 This adjustment offsets the original system-generated Overn Payment Estimate Item Adjustment (cotton) due to user leez: overridding Payment Estimate Exemption 5 on the current	0620	COMMUNICATION INTERFACE,	Material		1		SYSTEM	(\$5,600.00)	
Payment Estimate.					1		SYSTEM	\$5,600.00	
- Total \$0.00				- Total				\$0.00	

Revision 4/1/2020 Page 27 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0620	Material - Total						\$0.00	
0620 -	- Total						\$0.00	
0690	18 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$3,395.00)	
				4	May 4, 2020	SYSTEM	\$3,395.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user leez1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$3,395.00)	
				5	May 18, 2020	SYSTEM	\$3,395.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user leez1 overridding Payment Estimate Exception 63 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0690 -	- Total						\$0.00	
0700	24 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$1,470.00)	
				4	May 4, 2020	SYSTEM	\$1,470.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$1,470.00)	
				5	May 18, 2020	SYSTEM	\$1,470.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user leez1 overridding Payment Estimate Exception 64 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0700 -	- Total						\$0.00	
0710	30 IN. PIPE GROUP C	Material		4	May 4, 2020	SYSTEM	(\$6,240.00)	
				4	May 4, 2020	SYSTEM	\$6,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user leez1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$6,240.00)	
				5	May 18, 2020	SYSTEM	\$6,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user leez1 overridding Payment Estimate Exception 66 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	- Total						\$0.00	
0800	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile		1	Mar 16, 2020	SYSTEM	\$32,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total			\$32,700.00		
	Construction Stockpile - Total						\$32,700.00	
	- Total	Mat. 11		-	м. ::	OVOTTO	\$32,700.00	
0830		Material		5	May 18, 2020	SYSTEM	(\$4,312.00)	
	BRIDGE APPROACH SLAB (MINOR ROAD)	Waterial		-	M 40	OVOTERA	£4.040.00	This adjustes of #5 to the minimal content of October
	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		5	May 18, 2020	SYSTEM	\$4,312.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
	BRIDGE APPROACH SLAB (MINOR ROAD)	muona	- Total	5		SYSTEM	\$4,312.00 \$0.00	Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current
	Material - Total	mucha	- Total	5		SYSTEM		Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current
0830 -			- Total	5		SYSTEM	\$0.00	Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current
0830 - 0840	Material - Total	Material	- Total	3		SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00	Payment Estimate Item Adjustment (0014) due to user leez1 overridding Payment Estimate Exception 15 on the current

Revision 4/1/2020 Page 28 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0840	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Material	, ,		2020			Payment Estimate Item Adjustment (0005) due to user leez1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				4	May 4, 2020	SYSTEM	(\$39,200.00)	
				4	May 4, 2020	SYSTEM	\$39,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user leez1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$39,200.00)	
				5	May 18, 2020	SYSTEM	\$39,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user leez1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0840 -	Total						\$0.00	
0860	CLASS B CONCRETE (SUBSTRUCTURE)	Material		3	Apr 16, 2020	SYSTEM	(\$41,600.00)	
				3	Apr 16, 2020	SYSTEM	\$41,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				4	May 4, 2020	SYSTEM	(\$41,600.00)	
				4	May 4, 2020	SYSTEM	\$41,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user leez1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$41,600.00)	
				5	May 18, 2020	SYSTEM	\$41,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user leez1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0860 -	Total						\$0.00	
0870	SLAB ON CONCRETE I-GIRDER	Material		3	Apr 16, 2020	SYSTEM	(\$26,010.00)	
				3	Apr 16, 2020	SYSTEM	\$26,010.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user leez1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				4	May 4, 2020	SYSTEM	(\$65,025.00)	
				4	May 4, 2020	SYSTEM	\$65,025.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user leez1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				5	May 18, 2020	SYSTEM	(\$65,025.00)	
				5	May 18, 2020	SYSTEM	\$65,025.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user leez1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0870 -	Total						\$0.00	
0880	SAFETY BARRIER CURB	Material		5	May 18, 2020	SYSTEM	(\$18,120.00)	
				5	May 18, 2020	SYSTEM	\$18,120.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user leez1 overridding Payment Estimate Exception 49 on the current Payment Estimate.
								Payment Estimate.

Revision 4/1/2020 Page 29 of 30



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0880	Material - Total					\$0.00		
0880 -	Total						\$0.00	
1240	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile		1	Mar 16, 2020	SYSTEM	\$32,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total					\$32,700.00	
	Construction Stockpile - Total						\$32,700.00	
1240 -	Total						\$32,700.00	
1720	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile		1	Mar 16, 2020	SYSTEM	\$32,700.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total			\$32,700.00		
	Construction Stockpile - Total					\$32,700.00		
1720 -	Total						\$32,700.00	
Overa	II - Total				\$130,800.00			

Revision 4/1/2020 Page 30 of 30